
 Q) ∫  
𝑥𝑑𝑥

𝑥4 + 𝑥2 + 1
 equals 

 (a) 
2

3
tan−1 (

2𝑥2 + 1

√3
) + 𝐶

 (b) 
1

√3
[tan−1 (

2𝑥 − 1

√3
) − tan−1 (

2𝑥 + 1

√3
)] + 𝐶

 (c) 
1

√3
tan−1 (

2𝑥2 + 1

√3
) + 𝐶

 (d) 
1

√3
[tan−1 (

2𝑥 − 1

√3
) + tan−1 (

2𝑥 + 1

√3
)] + 𝐶

 where 𝐶 is an arbitrary constant. 

 

 

 

 

𝑆𝑜𝑙𝑢𝑡𝑖𝑜𝑛:    𝐼  = ∫  
𝑥𝑑𝑥

(𝑥4+2𝑥2+1)−𝑥2

 = ∫  
𝑥𝑑𝑥

(𝑥2+𝑥+1)(𝑥2−𝑥+1)

 =
1

2
∫  

(𝑥2+𝑥+1)−(𝑥2−𝑥+1)

(𝑥2+𝑥+1)(𝑥2−𝑥+1)
𝑑𝑥

 =
1

2
∫  

𝑑𝑥

𝑥2−𝑥+1
−

1

2
∫  

𝑑𝑥

𝑥2+𝑥+1

 =
1

2
∫  

𝑑𝑥

(𝑥−(1/2))2−(√3/2)2
−

1

2
∫  

𝑑𝑥

(𝑥+(1/2))2−(√3/2)2

 =
1

√3
tan−1 (

2𝑥−1

√3
) −

1

√3
tan−1 (

2𝑥+1

√3
)

 =
1

√3
[tan−1 (

2𝑥−1

√3
) − tan−1 (

2𝑥+1

√3
)] + 𝐶

  

Answer is option B 


